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Mergers, Acquisitions and Corporate Restructuring @x

%e: 3 hrs. Max. Mar] 1?6
e

2,50,000 shares in exchange for 5,00,000 shares to the share hold g)ﬁrm ‘B’ you
&e required to determine : 4 LP

Q) Combined value of the firm after merger

O

Note: 1. Answer FOUR full questions from QI to Q7. .<O
3 Q 2. Q8 is compulsory. *
£ o) s
N )
g 1 a @ due diligence? Who will carry it? ('b (03 Marks)
8 b. Identi@ ifferences between spin-off and equity curve outs. N (07 Marks)
g c. Explain hange forces contributing to the mergers and acqui k@cﬁviﬁes in India.
B \ {10 Marks)
is 4 O
E-“; 2 a. What do you me reverse merger? q} (03 Marks)
&g b. Explain usefulness rters five forces model in merg\s'dnd acquisition decisions.
-l (07 Marks)
£% c. What is MLP? Explain if?I@es. @ (10 Marks)
<
5 4
% £ 3 a Whatis free cash flow? Of é\ QQ/ (03 Marks)
= E b. Briefly explain strategic perspecti eﬁers and acquisition decisions. (07 Marks)
; a ¢. Explain the various take over defens (10 Marks)
f=1
= 2 ~
2 ) 4 a. What is meant by hostile takeoé) (03 Marks)
=5 b. Describe managerial challen mergers an%sitions. (07 Marks)
i% ¢. Firm ‘A’ is planning to ac firm ‘B’. The rel¥ant financial details of the two firms prior
3 5 to the merger arrangem e as follows : g @
P
3 O
Eg £\ Particulars Firm ‘A’ }J ~Firm ‘B’
e (YMarket price per share Rs 75 ;?s 30
23 \b Number of shares 10,00,000 ,ggooo
§ Y ~\Q)- Market value of firm 7,50,00,000 | 1,507 0
g <
)
z Ej T ger is expected to bring gains which have present value of Rs. 0,000. Firm ‘A’
5%
+
£z
T §
g
8 -
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%
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Important Note - )gl
2 *

e

ii) Gains to share holders of firm ‘A’ ‘):

iii) True cost of acquiring firm ‘B’. (l%@)
When and why amalgamation adjustment account is created. 03 Ma%
Explain SEBI takeover code. {07 Marks)

A Ltd., wishes to acquire ‘B’ Ltd. the acquisition would require 200 lakhs of initial

investment and produce after tax cash flow to the firm of Rs. 60 lakhs forever. ‘A’ Ltd,,

borrows 80 lakhs using perpetual bonds with an interst rate of 9% and raises the rest from

internal funds. Cost of equity is 16% and the tax rate for the firm s 36% .

Estimate :

i) Cash flow to equity

ii) Cash flow to the firm. (10 Marks)
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6 a. What is Hubirs hypotheses? (03 Marks)
b. What are the tax benefits of mergers and acquisitions? (07 Marks)
¢. On 31" March 2011 the balance sheet of X Ltd., and Y Ltd., stood as follows :
Liabilities X Y Assets X Y
Share capital .
(shares of Rs. 10 cach) | 7,50,000 | 6,00,000 | F1ant and machinery | 5.00.000 | -
é,' General reserve 3,25,000 - Furniture and fittings 80,000 60,%3\
7 Profit and loss A/c 85,000 - Stock 4,55,000 | 4,15,
Qé / Creditors 1,60,000 | 1,30,000 | Debtors 1,02,000 | 1 48,080
} Cash at Bank 1,83,000 1000
Q) Profit and loss A/c N 100,000
Total : | 13,20,000 | 7,30,000 Total : | 13,2069 | 7,30,000

7
O(f wgdate X Ltd., took over the business of Y Ltd., for Rs 5,00,000 Qeiy;be m the form of
its eq hares of Rs 10 each at par.

Pass jo tries in the books of ‘X’ Ltd., Q
Pass Joumxé ies in the books of “Y” Ltd. {7/ (10 Marks)
7 a. Name the five s% of merger process. \ (03 Marks)
b. Explain various s s of mergers. )}Q/ (07 Marks)
¢. Magnus mtematlona firm engaged in textil stry. The firm desires to limit its
leverage to 30% of the capital. The margi ax rate is 40% and beta is 1.5. The

corporate bound rate is 8 /% the 10 yearﬁgyemment security is trading at 5%. The
expected annual return on stock’is N)% A&% ee cash flow to firm is expected to remain
at Rs. 4 million indefinitely. Es W and value of firm whose capital consists of

debt and equity. Cp (10 Marks)
8 Compulsory :
The following are the balance %ﬂs of P Ltd{@d S Lid.,
x, -
Liabilities M., [ SLd., | < Assets Pltd., | SLid.,
Equity Share capital NI~ - @ o
(shares of Rs. 10 eﬁe 72,000 | 30,000 Land uilding 25,000 -
11% preferen

capital (Rss& ch) - | 17,000 Flant aﬂd@mery 32,500 | 29,000

General 8,000 [ 4500 | Furniture and Fi 1@ 5,750 9,410

Export - 2,000 | Stock (3 21,500 [ 17,390

Pro loss Alc 7500 | 4,000 | Debtors 7,250 5,200

@ ebentures of Rs.| — 5,000 | Cash at Bank /Z;goo 5,000

x each
,(\kreditors 11,500 | 3,500
Q Total : | 99,000 [ 66,000 Total : | 99 006{.:’ ~$6.000
\\\ P Ltd., takes over S Ltd., and pays consideration as under : . 6

1) Issued 35 lakhs equity shares of 10 each at par to equity share holders of S Ltd., 0

\(B ii) Issued 12% preference of Rs. 100 to discharge the preference share holders of $ Ltdﬁ
\2\‘ a premium of 10%
iif) The debentures of S Ltd., will be converted to equal number and amount of 10%
debentures of P Ltd.,

iv) Statutory reserves of S Ltd., is to be maintained for two more years
You are required to show the balance sheet of P Litd.,

8.  When amalgamation is in the nature of merger. (10 Marks)
b.  When amalgamation is in the nature of purchase. (10 Marks)
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